
1. Scientific Notation

Write in scientific notation:

450            3400                12400                 9100(5              870000             538000000            

0(07           0(0023             0(00085              0(000056          0(0002021        0(0000000000082

2. Whole Numbers

a) A sofa can be bought on hire purchase terms as follows:
Deposit:   £200

Instalments:  24 months @ £10 per month 

Calculate the total hire purchase price.

b) In an electroplating process, 32 grams of copper is deposited in 4 hours.

How much copper will be deposited in 7 hours? 

c) How many ice cubes measuring 2 cm by 2 cm by 2 cm can 

I make from melting down a cuboid of ice measuring 20 cm 

by 4 cm by 7 cm? 


3. Percentages

Carry out the following calculations: 

10% of £45          20% of 75          30% of $70          25% of 180 kg          40% of 45  

50% of 35            60% of 85          75% of £32          70% of $25               80% of 65   

5% of £240          15% of 360          

4. Fractions
Carry out the following calculations: 
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5. Decimals          

Carry out the following calculations: 

a) 3(1 ( 20               4(3 ( 20               5(7 ( 20               3(2 ( 30             2(6 ( 30           

0(29 ( 200           0(45 ( 300           0(37 ( 500           4(1 ( 700           3(5 ( 800 

b) If I walk at a speed of 0(2 metres per second, how far can I walk in 30 minutes?              

6. Negative Numbers

Complete the following:

–5 + 2 =           –13 + 17 =          –1 + 2 =           –3 + ? = 1         –5 + ? = –2         – 4 + ? = 9            

5 – 6 =             3 – 17 =              9 – 15 =            –3 – 2 =              –11 – 4 =          5 – ? = –13 

0 – ? = – 4          5 – ? = –11         ? – 7 = –9         –15 – (–4)         –11 – (–9)         3 + (–2)          

7. (In)Equations

Solve for x:

a) x + 7 = 12              x + 5 > 8              x – 13 = 14              3x = 30              4x = 28          

2x = 5                    3x < 12                4x > 60          

b) 4x + 3 = 23       2x + 3 ( 7       2x – 5 = 13       5x – 2 ( 8       5x = 4x + 34          7x = 4x + 18

c) 3x + 5 = x + 17          4x + 13 = 2x + 21          7x + 23 = 2x + 48          9x + 5 > 4x + 20 

5x + 1 < 3x + 7          4x – 1 = 2x + 8              8x – 3 = 4x + 5 

8. Brackets
a) Factorise fully:
2x + 18y          6w – 3          25p – 5          12b + 8          6x – 9y          ab + ac          3cd – 3d              

b) Multiply out the brackets and simplify:

3(x + 7) + 2x          5(2y + 3) – 6y          7(s – 4) + 13          2(x + 3) – 2          2(5p – 8) – 7 

9. Co-ordinates

a) Plot the points A(3 , 5), B(7 , 0), C(1 , -5), D(0 , -3), E(-6 , 8) and F(-5 , -4).

b) Plot K(-3 , -1), L(1 , 3) and M(5 , -1).  Plot the point N such that KLMN is a square.
c) Plot E(2 , 1), F(4 , 5) and G(10 , 1).  Plot the point H such that EFGH is a kite.
d) Plot P(1 , -1), Q(3 , 2) and R(5 , -1).  Plot the point S such that PQRS is a rhombus.
10. Straight Line

1. Complete the table below for y = 3x + 1.

	x
	-2
	-1
	0
	1
	2

	y
	
	
	
	
	



Using the table, draw the graph of the line y = 3x + 1.  

2. Complete the table below for y = 2x – 3.

	x
	-2
	-1
	0
	1
	2

	y
	
	
	
	
	



Using the table, draw the graph of the line y = 2x – 3.  

3. Complete the table below for y = 2 – 5x.  

	x
	-2
	-1
	0
	1
	2

	y
	
	
	
	
	



Using the table, draw the graph of the line y = 2 – 5x.  

4. Complete the table below for y = 1 – 4x.
	x
	-2
	-1
	0
	1
	2

	y
	
	
	
	
	



Using the table, draw the graph of the line y = 1 – 4x. 
11. Graphs, Charts and Tables
a) A health clinic gives people over 45 regular check-ups.  Their cholesterol counts (in units) were as follows: 

58,  48,  73,  81,  53,  64,  61,  50,  68,  51,  67,  58,  76,  49,  67,  59,  56

Show these results in a stem and leaf chart.  

b) A market gardener counts the peas in a sample of pods.

	Number of peas
	Number of pods
	Score ( Frequency

	Score
	Frequency
	

	1
	6
	

	2
	8
	

	3
	6
	

	4
	4
	

	5
	2
	

	6
	4
	

	Total
	Total


Copy and complete the table above and calculate the mean number of peas per pod.

12. Probability
A basket contains 16 eggs.  Four are brown and the rest are white.  Five are cracked .  One is bad.

Calculate the probability that an egg picked at random will be  

a) white

b) cracked

c) not bad

If one brown egg is removed, what is the probability that the next egg removed is cracked?
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